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QUESTION 1

Generally, a clock tracing chain consists of a maximum of 20 NEs. This rule does not apply to a clock subnet where the
SSM protocol is enabled. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 2

Which of the following statements is false about pre-commissioning check? 

A. Verify that the equipment is properly grounded. 

B. An AUX board provides multiple RJ45 ports that receive same signals. Wrong port connections do not affect the
equipment or boards. 

C. On an AUX board, LAMP1 is the cabinet alarm indicator output port and LAMP2 is the cabinet alarm indicator
cascading input port. Verify that the ports are connected correctly, to prevent short circuits. 

D. Verify that the NMS is successfully installed. 

Correct Answer: B 

 

QUESTION 3

Which of the following statements are true about fiber-shared virtual path protection? 

A. The VC-4 timeslots of an optical path allocated to an MSP ring and those allocated for an SNCP ring must be
different. 

B. When the VC-4 timeslots of an optical path allocated to both an MSP ring and an SNCP ring are the same, services
on the VC-4 timeslots have double protection. 

C. The VC-4 timeslots of an optical path allocated to two MSP rings must be different. 

D. When the VC-4 timeslots of an optical path allocated to two MSP rings are the same, services on the VC-4 timeslots
have double protection. 

E. The VC-4 timeslots of an optical path allocated to two SNCP rings must be different. 

F. When the VC-4 timeslots of an optical path allocated to two SNCP rings are the same, services on the VC-4 timeslots
have double protection. 

Correct Answer: ABCE 
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QUESTION 4

A port of an NG-SDH NE is currently free from alarms. You can enable the alarm inversion function on the port and set
the reversion mode to auto-revertive. 

A. TRUE 

B. FALSE 

Correct Answer: B 

 

QUESTION 5

What are the procedures of handling discrete services on the NMS? 

A. Check the consistency between NMS data and NE data. 

B. Check the consistency between the fiber connections created on the NE and physical fiber connections. 

C. Search for protection subnets, and ensure that all protection subnets are searched out and properly configured. 

D. After discrete services are searched out, the NMS analyzes the discrete services based on the displayed causes and
solutions. 

E. After discrete services are searched out, delete the discrete services on the NMS. 

Correct Answer: ABCD 
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